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Mathematics P1 Grade 10

NOTE:

LimpopoDoE/ November 2018

e If a candidate answered a question TWICE, mark only the FIRST attempt.

e If acandidate crossed out an answer and did not redo it, mark the crossed-out answer.
e Consistent accuracy applies to ALL aspects of the marking memorandum.

e Assuming values/answers in order to solve a problem is unacceptable.

QUESTION 1
11
i i v'5
! v6
5 1283 )
1.2.1 x=1{0;12;3:4;5
¥ = i } v answer / antwoord
1)
1.2.2 Xx=5 v answer / antwoord
(1)
1.2.3 x=2 x=1 v'v" answers/ antwoorde
(2
1.2 Let/stel 123456789=n v'substitution
~nn+1)-(n+2)n-1) v'simplifying
5 5 v answer/antwoord
n-+n- (n +n-— 2)
(3)
=n?+n-n®-n+2
=2
[9]
QUESTION 2
2.1 (x”+ym x”+ym) v x2n
= x2N 4 oxMy™M 4 y2m v 2xMyT
v y2m
(3)
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Mathematics P1 Grade 10 3 LimpopoDoE/ November 2018
NSC
2.2 2 1 1
Hirs =
S| o oo
(s EYJ@JYJ@—-VJ@AYJ
3 3
) v81
2
= 9g_=
( 9’ j( j -2y
=81-2y? + —y* 1
v’ 81 i =14
4)
2.3 X _ 1 v'factorisation (x2 + Xy + y2)
(x - y)(x2 + XY+ y2) (x2+xy+ yz)
x-1(x—y) v LCM :(x—y)(x2+xy+y2)
(x - y)(x2 + Xy + yz)
_ X—2X+ y > v'Simplify
(x - y)(x FXY+Y )
_ y
(x— y)(xz Xy + y2) v answer/antwoord
4)
[11]
Question 3/Vraag 3
3. | y=x-4 in v'substitute/vervang (x —4)
(x=4)+x=12 v cirmnlifyi
simplifyin
X—4+x=12 PG
2x =16
inty=x-4 v/substitute/vervang x =8
=8-4 v
y=4 Y=
. (8;4) ®)
[5]
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NSC
Question 4/ Vraag 4
4.1
2xX2 3 _ 25 ft?ase 2 both sides/ grondtal 2
" 100 beide kante
_1
4
2x2 -3x _ 2—2
X% -3x=-2
x2 —3x+2=0
v standard form = 0/
x-1)x-2)=0
( X ) Standaardvorm =0
x-1=0 Xx-2=0
x=1 X=2
vVx=2
(4)
42 |-1<3-2x<5 v'subtract both sides/ aftrekking
-1-3<-2x<5-3 beide kante
—4=<-2x<2 v'answer/antwoord
+=2 -1<x<2 . .
v'inequality sign
IC ? v‘answer on number line /
-1 2 antwoord op getallelyn
4)
4.3 | pPX+0Xx=a v'factorisation/ faktoriseer
x(p+0)=a
_a
X= D+ v'answer/ antwoord
)
[10]
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NSC
Question 5/Vraag 5
511 |T,=n-5
-1=n-5
n=4
T,=3-5=-2
T,=5-5=0 V-2
-2;-1,0; 2 v
p=—2 q=0 )
512 | o3 11
55=2(n)> +1
27=n°
3=n v k=17
T, =2(2)% +1=17 v'm=251
Ts = 2(5)° +1=251 @)
k=17 m=251
5.2.1 |19 v" answer/ antwoord
1)
522 | Tn=an+b vformule
Th=3n+1 va=3
vb=1
©)
5.2.3 | 106=3n+1 v'equating 106 in
10—5=n v'simplifying
3
35-n v'answer
©)
[11]

Copyright reserved

Please turn over



Mathematics P1 Grade 10

Vraag 6/ Question 6

NSC

LimpopoDoE/ November 2018

6.1 2500%x423.50x13,58
=R14 377 825,00

v'R13,58

v'multiplication

v“answer/antwoord
©)
6.2.1 | Deposit/deposito: v'Deposit/deposito
=15% x R3999
=R599,85
Total Payments:
=deposit +24x R170
= R599,85+ R4080 v'Total repay/Totale
=R4679,85 terugbetaling
| = R4679,85—-R3999 v answer
= R680,85
(4)
6.22 | P =3999-599.85 v'v' R3999 —599.85
= R3399,15 v’answer/antwoord
@)

6.2.3 | A=R170x24 =R4080
A=P(+i.n)
4080 =3399,15(1+ix2)
4080
3399.15
1,2003-1=2i
i 0.2003
2
i =0,10015
rentekoers/interest rate =10%

=1+2i

v formula/formule

v'correct substitution in correct
formula

v'simplification/vereenvoudiging

v'10% answer/antwoord

(4)
[14]
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Vraag 7/ Question 7

NSC

LimpopoDoE/ November 2018

7.1 R(2;-8)
fog=2
X
g2
2
a=-16 v’ answer/antwoord
f (X) — ﬁ
» (1)
7.2 y =-x en/and
16
y=——
X
16
X
2 _
—-X°=-16 vequating f(x)=g(x)
x> =16
X==4
x=4 y=-4
- B(4:-4) v B(4,-4)
y=-(-4) v'Substituting X
- A(=4:4)
v A(—4;4)
4)
7.3 y = px?
B(4;-4)
_ 2
—4=p(4) v'substitution B(4;—4)in correct
-4=16p
1
p == v'simplification
S g(X) = -2 x2 v'value a:%l

v'equation

(4)
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NSC
7.4 v x=0
Xe(—oo;oo), Xx=0 v (—oo;+oo)
)
7.5 y=X v’answer/antwoord
1)
7.6 _
m=Y2"Y%  R(2;-8)and B(-4:4)
X=X vformula
4-(-8
= ﬁ v'correct substitution
_12 v'answer/antwoord
-6
3
o ©)
7.7 Domain:xeR vxeR
Range:y <0 vy<0
or ye(-x;0]
(2)
[17]
Vraag 8/ Question 8
8.1 1Y v substitute x=0
(3]
y=1 ©:1) v answer/antwoord
)
8.2 |frasymptote y=0 (x—axis) v'answer/antwoord
@
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Mathematics P1 Grade 10 9 LimpopoDoE/ November 2018

NSC
8.3 1Y
f(x)=|=
03]
v(0;1)
v/ (form/vorm)
) ] v' (-1;5) / or other coordinate on
the graph
X
g(x) = 5
v
v (0;5)
v’ form/vorm
v x>0
(6)
841 | y>0 v‘answer/antwoord
1)
842 | y>5 v‘answer/antwoord
)
[11]
Vraag 9/Question 9
9.1 S 4-Korrek/Correct = 4 marks
v R 3: Korrek/Correct =3 marks

2: Korrek/Correct = 2marks

1 korrek/correct = 1marks

(4)
10

921 24 v answer
(1)
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9.22 | 30 v'answer
1)

93 | 50_5 vanswer

90 9

1)
No — 26 students “read” and “watch TV” v'answer
9.4
1)
[9]

Vraag 10/Question 10
10.1 | P(Aand B)=0 v’ Answer (1)
102 | P(AorB)/

P(A of B) v P(A)+P(B)

=P(A)+P(B) ;

v
1 1
7 @
12
[3]
TOTAL:100
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